Dammam Community College  
MATH 011 

Past Exams Questions

Section 4.1
1. If we find the inverse function of    

[image: image1.wmf]2

7

5

3

)

(

+

+

=

x

x

x

f

 we get  where 
[image: image3.emf]2


d


bc


-


=




2d bc

 


(a) -29
(b)  25
(c) -33
(d)  31
(e) -21
2. If 
[image: image4.wmf]4

2

)

(

2

+

+

=

x

x

x

f

, 
[image: image5.wmf]1

-

³

x

, then the graph of 
[image: image6.emf]f


-


1




f



1

 lies completely above the x-axis on the interval 
(a) 
[image: image7.wmf](

,

)

-

1

3


(b) 
[image: image8.wmf](

,

)

3

¥


(c) 
[image: image9.wmf](

,

)

4

¥


(d) 
[image: image10.wmf](

,

)

-¥

4


(e) 
[image: image11.wmf](

,

)

3

4
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4. If 
[image: image25.wmf]1

)

(

2

+

=

x

x

f

, 
[image: image26.wmf]0

£

x

, then 
[image: image27.wmf]f

-

1

5

(

)

is equal

(a) 
[image: image28.wmf]±

2


(b) 
[image: image29.wmf]2


(c) 
[image: image30.wmf]1

26


(d) 
[image: image31.wmf]-

1

26


(e) 
[image: image32.wmf]-

2
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 then the domain D and the range R of  the inverse function 
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6. The domain of the inverse function of 
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7. If 
[image: image46.wmf]4

2

)

(

2

+

+

=

x

x

x

f

, 
[image: image47.wmf]1

x

£-

, then the graph of 
[image: image48.emf]f


-


1




f



1

 lies completely in the  
(a) Quadrant I
(b) Quadrant IV
(c) Quadrant III
(d) Quadrants I and IV 
(e) Quadrants II and III 
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